Mock Test 2

Class Objective: | am able to answer all the questions based on what is taught till now
Practice A: Combine the Sentences to form a reply

Bl(NLY):HLI=D RK[UTAZ)E ESTIM, [RKRUTAZ)FH(ELIED)-E(KH)YTT ]
- RRUTAZ)FH(KIFED)ICKDE. EKH)YEESTT,

1. ZE(EID)ERLI)E BT DDATTD TER(IFVED)D RR(E-UES)
(SATWET ]

R

2. BE{ZAEL)E KELCEEWV)E EBoD REEN)EL)ETIATIN[CD K(FA)-
ZHELCEEL)D (F5A REN)EL)ELET L

3. EhLVE TE(IFF)D BEE(LLLA)TIR.ICO BE(LYLA)D FHBA(EDHLY)-HFR(E
AML)T WBIFA K(EH)EL TE([374)TT

4. IUENIE LIRIX(APASAE FEOEATIN, TDUSAD E([FHL)-ETH KE(=
LWAA)TT ]

" 'L\L\is iff Tf& IEIEI\(H'S:E))L\ij_o

Practice B:

Bl(ALLY) B (HB)DY A(S)AT WETH, [KBA(CHID)FH(LI)TT - KA&A(CH02)FH(L
J)D1ESTI 1,

1. INMA—HY 1E(&)F-T LWEI A,
HD IBIT FBE(EDIFI)DTAIL)YEL=-  1KITT,

2. T HFE(EPIDI)E(NAE IZELD LETHR. bE2EE(SD)NTT - I&ST
ERS

3. BEBER)N FBUL)WTTEETMETT - 1&5TT,
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